Year 2 Maths Activity Mat

Section 1

Gina and Milly share out a
bagful of cherries. They each

Section 2

Fill in the missing boxes:

e

Section 3

Complete these statements:

Which times table are these
numbers from?

4 6 8 10 12

Addition Pyramid

"

7~

Section 6

If I have 9 socks, and I put them into
pairs, how many socks will I have left
over?

Add the bottom numbers to find the top number

have 9 cherries. How many were % of 2 is

there in the bag altogether? + 15 = 20 ...........................
Tof12is

20 - = 13 :
20of100s
"
g D 4
Section 5 Section 7

\

®

Section 4
How many 5ps would you need to make 30p?

Section 8

How many days are in 2 weeks?

How about 4 weeks?

Show your working out.
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Year 2 Maths Activity Mat: 5

Answers
a R

Section 1 Section 2 Section 3 Section 4

Gina and Milly share out a Fill in the missing boxes: Complete these statements: How many 5ps would you need to make 30p?

bagful of cherries. They each

have 9 cherries. How many were % of 24 is 12

there |_n_ the bag altogether? 5 + ’|5 = 20 .f ...........................

Tofl2is 3
20 - 7 = 13 !
18 20of10is 5. 6
" )

q ) 4

Section 5 Section 7 Section 8

Which times table are these Addition Pyramid How many days are in 2 weeks?

?
numbers from: Add the bottom numbers to find the top number
4 6 8 10 12
2x table 14 days

- g 1 How about 4 weeks?
a 3

Section 6

If I have 9 socks, and I put them into 5 6

irs, h ks will I have left
palrs,?, ow many socks will I have lef 28 days
overs
1 Show your working out.

G _J G
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Year 2 Maths Activity Mat

Section 1

Gina and Milly equally shared
out a bagful of cherries. There

Section 2

Fill in the missing boxes:

Section 3

Complete these statements:

Which times table are these numbers
from?

Addition Pyramid

Tip: The bottom numbers add together to make the
5 20 15 35 40 55 top number.

was one left over. Both girls had > of 20 is
12 cherries. + 15 = 30 Jc ...........................
How many cherries would have 7 of 20 is
beeninthebag? | | —— | | T T
60 - = 34
4 of 200s
"
4 A 4
Section 5 Section 7

"

7~

Section 6

If I count 12 pairs of socks, how many
socks are there altogether?

27

12

\

®

Section 4

How many 10ps would you need to make £2?

Section 8

How many minutes are there in 2 hours?

. .
How many minutes are there in 15 hours?

Show your working out.
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Year 2 Maths Activity Mat: 5

Answers
a R

Section 1 Section 2 Section 3 Section 4

Gina and Milly equally shared Fill in the missing boxes: Complete these statements: How many 10ps would you need to make £2?

out a bagful of cherries. There

was one left over. Both girls had % of 20 is 10

1 2 cherr[es 15 + ’l 5 = 30 f ...........................

How many cherries would have + of 20 is 5

beeninthebag? | | —— | | T e

60 - 26 = 34 5
25 wof20is A5 20
" )

g D 4

Section 5 Section 7 Section 8

Which times table are these numbers Addition Pyramid How many minutes are there in 2 hours?

?
Jrom: Tip: The bottom numbers add together to make the
5 20 15 35 40 55 top number.
5x table 120

- g 27 How many minutes are there in ‘I% hours?
a 3

Section 6

If I count 12 pairs of socks, how many 12 15

kR th ltogether?
socks are there altogether a0
24 Show your working out.

G _J G

w * '* twinkl.co.wk



Year 2 Maths Activity Mat

Section 1
Gin, Tim, Ben and Milly
equally shared out a bagful

Section 2

Fill in the missing boxes:

Section 3

Complete these statements:

from?

24 36 27 18

Which times table are these numbers

Addition Pyramid

How do you know?

top number.

Tip: The bottom numbers add together to make the

53

Section 6

If a shoe shop has a delivery of 70 boxes
of shoes in pairs, how many shoes are

of cherries. There was one 2 of 2410s .

left over. They each had 4 + 115 = 130

cherries. “of 2bis

How many cherries have been o _ _

in the bag? 80 - = 55 This is the same as which fraction?
1 1 4
5 2 4

e " 4 ™)
Section 5 Section 7

112

20

60

there altogether?

®

Section 4

How many 20p’s would you need to make
£3?

Write a multiplication number sentence to
show your answer.

Section 8

How many minutes are there in 3 hours?

, oo
How many minutes are there in 3 hours?

Show your working out.
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Year 2 Maths Activity Mat: 5
Answers

Section 1
Gin, Tim, Ben and Milly
equally shared out a bagful

Section 2

Fill in the missing boxes:

Section 3

Complete these statements:

Which times table are these numbers
from?

24 36 27 18

3x table

How do you know?

Section 6

If a shoe shop has a delivery of 70 boxes
of shoes in pairs, how many shoes are
there altogether?

140

Addition Pyramid

top number.

53

Tip: The bottom numbers add together to make the

of cherries. There was one 2 of 24is 12
left over. They each had 4 15 [+ 115 = 130
cherries. Fof2dis 12
How many cherries have been o _ _
in the bag? 80 25 = 55 This is the same as which fraction?
v P @

e ") ~ ™)

Section 5 Section 7

112

20 33

60 52

Section 4

How many 20p’s would you need to make
£3?

Write a multiplication number sentence to
show your answer.

15 x 20 = 300

Section 8

How many minutes are there in 3 hours?

180 minutes

, oo
How many minutes are there in 3 hours?

210 minutes

Show your working out.
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